AMENDMENT #4 TO CONTRACT NO. 2011000079 BETWEEN CHARLOTTE COUNTY

and MUELLER SYSTEMS, LLC

for

AUTOMATED METER READING SYSTEM

THIS AMENDMENT #4 to Contract No. 2011000079 ("Amendment #4") is made and entered into by and between CHARLOTTE COUNTY, a political subdivision of the State of Florida, 18500 Murdock Circle, Port Charlotte, Florida 33948-1094 (the "County"), and MUELLER SYSTEMS, LLC, 10210 Statesville Boulevard, Cleveland, North Carolina 27013 (the "Vendor").

RECITALS

WHEREAS, the County and the Vendor ("Parties") entered into Contract No. 2011000079 ("Agreement") on or about January 3, 2012, to provide and maintain a fixed-base automated meter reading system, with a contract term through September 30, 2023; and

WHEREAS, on or about August 11, 2015, the Parties entered into Amendment #1 to the Agreement, to provide additional labor and other services necessary to facilitate an accelerated deployment of the Automated Meter Reading System; and

WHEREAS, on or about September 26, 2016, the Parties entered into Amendment #2 to the Agreement to add Supplementary Conditions necessary for contracts funded utilizing State Revolving Fund ("SRF") financing; and

WHEREAS, on or about October 10, 2023, the Parties amended the Agreement to extend its term through September 30, 2025, to revise the price schedule to provide for guaranteed pricing through 2025, and to revise the hosting fees for FY 2025; and

WHEREAS, the Parties wish to further amend the Agreement to extend the term through September 30, 2026, and to Replace Exhibit A to update the price schedule to provide for guaranteed pricing through September 30, 2026.

NOW, THEREFORE, in consideration of the mutual covenants contained herein, the County and the Vendor agree as set forth below:

ARTICLE I GUARANTEED MAXIMUM PRICE

- 1.1. The recitals above are incorporated herein by reference.
- 1.2. The term of the Agreement is hereby extended to September 30, 2026.
- 1.3. The unit prices for services are hereby revised as provided for in **Exhibit A**, Pricing Schedule, which is incorporated into and made part of the Agreement.

ARTICLE II MISCELLANEOUS

- 2.1. The effective date of this Amendment #4 is the date on which it is signed by both Parties.
- 2.2. Any terms used in this Amendment #4 shall have the same meanings and definitions as they have in the Agreement.
- 2.3. All other provisions of the Agreement and Amendments #1, #2, and #3 not in conflict with this Amendment #4 shall remain in full force and effect.

IN WITNESS WHEREOF, the Parties hereto have caused this Amendment #4 to be executed by their duly authorized officers for and on behalf of each respective party on the date indicated below.

WITNESSES:	MUELLER SYSTEMS, LLC	
Signed By:	By:	
Print Name:	Title:	
Date:	Date:	
ATTEST: Roger D. Eaton, Clerk of the Circuit Court and Ex-officio Clerk to the Board of County Commissioners	BOARD OF COUNTY COMMISSIONERS CHARLOTTE COUNTY, FLORIDA	OF
By: Deputy Clerk	By:	
	APPROVED AS TO FORM AND LEGAL SUFFICIENCY:	
	Janette S. Knowlton, County Attorney LR25-0226	

Exhibit List:

Exhibit A – Pricing Schedule

EXHIBIT A



Phone: (800) 423-1323

Website: www.MuellerSystems.com

Attention: Kimberly (Kim) Corbett, C.P.M,

CPPB

Phone: (941) 743-1372

Email: kim.corbett@charlottecountyfl.gov

Company Address: 25550 HARBOR VIEW RD PORT CHARLOTTE,FL,33980

Prepared For:

Charlotte County (FL) Utilities Account #: 94323000

End User:

Charlotte County (FL) Utilities

SALES QUOTATION

Created Date: 02/03/2025 Quote #: Q-167604

Quote Expires: 09/30/2026

Terms are located at:

www.muellerwaterproducts.com/terms-conditions

Currency Type: USD

Prepared by: Daniel Foster

Comments & Consideration

\$50 minimum order, \$75 non-box quantity

Purchase of any LoRaWAN Network-as-a-Service part number, such as "MSW-LW-PH-ALL", is subject to SaaS and NaaS Agreement.

Contractual pricing agreement for fixed pricing on the listed items through September 30, 2026. Re-evaluation of pricing subject to large scale AMI upgrade project.

Should you have any questions, please do not hesitate to contact Daniel-Foster

Quote Line Items

PD 400 Series Meters 5/8" - 3/4"

DART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
PART #	DESCRIPTION	UNITS	SALL I MOL	EXTENDED NET
V0GD437	5/8X3/4,420,RDM,PB,SSR 5'NODE6	20	463.78	9,275.60
VELB221N	3/4 435B,SHT,BB,ME8,SG,18"NIC	1	149.00	149.00
VEHB221N	3/4 435B,BB,ME8,SG,18"NIC	1	149.00	149.00
VEKB221N	1"452B,BB,ME8,SG,18"NIC	1	235.00	235.00
PD 400 Series Meters 5/8" - 3/4" SUBTOTAL:				USD 9 808 60000

PD 500 Series Meters 1 1/2" - 2"

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
W0NB13NRCM	1-1/2"562BRZ,SSR,5'NIC,RCM	10	495.00	4,950.00

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
W0PB13NRCM	2"572BRZ,SSR,5'NIC,RCM	10	645.00	6,450.00
WENN121N	562DI,1-1/2",2B,ME8,SG,18"NIC	1	395.00	395.00
WEPN121N	572DI,2",2B,ME8,SG,18"NIC	1	465.00	465.00
	PD 500 S	Series Meters 1 1/2"	- 2" SUBTOTAL:	USD 12,260.00000

HBMAG Meters

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
M0032F115	3"HBMAG,FM,SG,COMP,25'NICOR	1	2,720.20	2,720.20
HBRING3	3" HBMAG GROUNDING RING	2	31.32	62.64
M0042F115	4"HBMAG,FM,SG,COMP,25'NICOR	1	3,234.25	3,234.25
HBRING4	4" HBMAG GROUNDING RING	2	46.82	93.64
M0062F115	6"HBMAG,FM,SG,COMP,25'NICOR	1	5,968.79	5,968.79
HBRING6	6" HBMAG GROUNDING RING	2	42.36	84.72
M0082F115	8"HBMAG,FM,SG,COMP,25'NICOR	1	9,036.51	9,036.51
HBRING8	8" HBMAG GROUNDING RING	2	54.63	109.26
M0102F115	10"HBMAG,FM,SG,COMP25'NICOR	1	10,847.96	10,847.96
HBRING10	10" HBMAG GROUNDING RING	2	75.81	151.62
		HBMAG Me	ters SUBTOTAL:	USD 32,309.59000

Radios Only

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
MSW-NODE6-1P-05	MINODE 6 W/5'NICOR	1	104.11	104.11
MSW-NODE6-1P-25	MINET6 W/25'NICOR	1	116.92	116.92
		Radios O	nly SUBTOTAL:	USD 221.03000

Registers Only

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
SSR6N-442	442-SSR 18" NICOR	1	72.48	72.48
GWESG6N0-420	5/8 420 SG ME8 18"NIC 5.806	1	72.48	72.48

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
GWESG6N0-435	3/4" 435 SG ME8 18"NIC 3.285	1	72.48	72.48
GWESG6N0-452	1" 452 SG ME8 18"NIC	1	72.48	72.48
GWESG6N0-562	1.5" 562 SG ME8 18"NIC 6.400	1	72.48	72.48
GWESG6N0-572	2" 572 SG ME8 18"NIC 3.746	1	72.48	72.48
		Registers Only SUBTOTAL:		USD 434.88000

Collectors and Repeaters

collectors, repeaters, maintenance and install radios

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
MSW-NODE4-DC	MINODE4 REPEATER-DC POLE MNT	1	1,286.80	1,286.80
MS-G4-MHUB	MINET+MAINT RADIO	1	3,331.44	3,331.44
MS-H4-RADIO-V2	INSTALL RADIO V2	1	2,517.69	2,517.69
MS-MNC-V4-AC-AT7	MiNetCollectorV4GEN2GW/PS/CM	1	11,786.57	11,786.57
	Colle	ctors and Repeat	ers SUBTOTAL:	USD

18,922.50000

Maintenance Contracts

PART#	DESCRIPTION	UNITS	SALE PRICE	EXTENDED NET
MS-H-M-YR	INSTALL RADIO -V2/INSTALL MAINT-YR (Price is per Install Radio)	2	400.00	800.00
MS-G-M-YR	MI.HUB COLLECTOR MAINT	47	416.42	19,571.74
MS-G-M-YR-MHUB	MAINTENANCE RADIO YEARLY MAINT	1	416.42	416.42
	Main	tenance Contra	cts SUBTOTAL:	USD 20.788.16000

TOTAL: USD 94,744.76